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@+ @1 00 @ 2 ® 5

(bx+2y-7)+ (x—2y-3)
=bx+2y-T+x-2y-3

= 6x— 10

Wt a=6,b=0,c=-10°| 22
a+b+c=-4°]t},
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10. o5 A At A3t 3 o] H= A0

® 10a?b + (—éab) @ (%aZ)Q +9a3
® iaQ— <—§a>2 @ 6a’b (—ab2>




11. (%) x @b + (ab®)2-& 7reks] oba?

@ a6b10 @ a7b8 @ a10b16

@ o' ® a'%p®

a®b12 x a®b? + a?b® = a8




120 ()= (262 +3y) = 4x? —y oA () Qtofl &2 429

O 2x2 -3y @ 2x? -y @ 2x% + 3y
@ 5x* +y (@)6x2+2y

() =4x®-y+ (2x% + 3y)
= 6x% + 2y
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@—5x2+2y+1 @ -5x2-2y-3 ® x*-7

@ 5x%-2y-1 ® 5x24+y+7

( )=-3x2+y+4-(2x2 -y +3)
=-3x>+y+4-2x>+y-3
=-5x+2y+1
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®-3 @-2 01 @« ® 2
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x=-8, y=6,z=3
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